PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Index

EF01/AA, Endwall Interior Column Connection, At Ridge

EFO1A/AA, Endwall Interior Column Connection, At Ridge Top View

EFO1AA/AB, Endwall Interior Connection Detail, Channel Brace at Ridge

EFO1B/AA, Endwall Interior Column Connection Detail (Cold Formed), Cee Endwall Interior Column to Cee Rafter Connection
EF01C/AA, Endwall Interior Column Connection Detail (Cold Formed), At Ridge Section View

EFO1CA/AA, Endwall Interior Column Connection Detail (Cold Formed), At Ridge Top View

EF01CB/AA, Endwall Interior Column Connection Detail (Cold Formed), Channel Brace at Ridge

EF11/AA, Endwall Interior Column Connection Detail (Cold Formed), Cee Endwall Interior Column and Channel Brace Top View
EF11/AB, Endwall Interior Jamb Column (Cold Formed), Cee Endwall Interior Jamb Column and Channel Brace Top View
EF11B/AA, Endwall Interior Column (Cold Formed), Cee Endwall Interior Column to Cee Rafter and Channel Brace Connection
EF11B/AB, Endwall Interior Jamb Column (Cold Formed), Cee EW Interior Jamb column to Cee Rafter and Channel Brace
EF11BB/AA, Endwall Interior Column (Cold Formed), Cee Endwall Interior Column to Cee Rafter and Channel Brace
EF11BB/AB, Endwall Interior Column Connection (Cold Formed), Cee Endwall Interior Column to Cee Rafter and Channel Brace
EF12/AA, Corner Column Connection at Bldg Eave, Column to Rafter Connection

EF12A/AA, Corner to Column Conn. at Bldg Eave - Bearing Frame, Column to Rafter Connection 1/2" Bolts

EF12B/AA, Endwall Corner Column Conneciton Detail at Lowside, Cee Endwall Corner Column to Cee Rafter

EF12X/AA, Corner Column Conn. at Bldg Eave - Bearing Frame, Column to Rafter Connection - 3/4" Bolts

EF12Y/AA, Corner Column Conn at Bldg Eave - Bearing Frame, Column w/ Wtiffener to Rafter Connection - 1/2" Bolts
EF12Z/AA, Corner Column Conn. at Bldg Eave - Bearing Frame, Blocked Column w/ Stiffeners to Rafter Connection - 3/4" Bolts
EF13A/AA, Corner Column Conn Detail at Bldg Eave - Bearing Frame, Column to Rafter Connection - 1/2" Bolts

EF13X/AA, Corner Column Conn Detail at Bldg Eave - Bearing Frame, Column to Rafter Connection - 3/4" Bolts

EF14/AA, Corner Connection Detail at Highside Eave, Column to Rafter Connection

EF14A/AA, Corner Column Conn Detail at Highside Eave - Bearing Frame, Column to Rafter Connection - 1/2" Bolts

EF14B/AA, Endwall Corner Column Conneciton Detail at Highside, Cee Endwall Corner Column to Cee Rafter Connection
EF14X/AA, Corner Column Conn Detail at Highside Eave - Bearing Frame, Column to Rafter Connection - 3/4" Bolts

EF14Y/AA, Corner Column Conn at Highside Eave - Bearing Frame, Column w/ Stiffeners to Rafter Connection - 1/2" Bolts
EF14Z/AA, Corner Column Conn at Highside - Bearing Frame, Blocked Column w/ Stiffeners to Rafter Connection - 3/4" Bolts
EF16A/AA, Corner Column Conn at Highside Eave - Bearing Frame, Column to Rafter Conneciton - 1/2" Bolts

EF16X/AA, Corner Column Conn at Highside Eave - Bearing Frame, Column to Rafter Connection - 3/4" Bolts

EF17/AA, Rotated Corner Column Connection to Rafter at Low Side, Beam & Column Endwall

EF18/AA, Rotated Corner Column Connection to Rafter at Highside Eave, Beam & Column EW w/ Column Extended Above Rafter
EF18A/AA, Rotated Corner Column to Rafter w/ Highside Purlin, Beam & Column, Open SW w/ Column Cutback for Purlin Clear
EF20/AA, Corner Column Connection to Rafter (Flush/Inset Girts), Beam & Column Endwall w/ Rafter Extended Above Column
EF20R/AA, Corner Column Connection to Rafter (Bypass Girts), Beam & Column Endwall w/ Rafter Extended Above Column
EF21/AA, Rotated Corner Column Conn. to Rafter (Flush/Inset Girts), Beam & Column Endwall w/ Rafter Extended Above Column
EF21R/AA, Rotated Corner Column Conn. to Rafter (Bypass Girts), Beam & Column Endwall w/ Rafter Extended Above Column

Issued 11/7/2016



PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Index

EF22/AA, Endwall Rafter Splice Detail, Rafter to Rafter Connection

EF23/AA, Endwall Rafter Ridge Detail (Hot Rolled and Built Up), rafter w/ Ridge Splice Plate

EF23A/AA, Endwall Rafter Ridge Detail (Cold Formed), Rafter w/ Ridge Splice Plate

EF24Y/AA, Endwall Interior Column Connection (Hot Rolled or Built Up), At Ridge

EF25/AA, Endwall Rafter Splice Detail (Cold Formed), Rafter w/ Intermediate Splice Plate

EF26/AA, Ridge Column Connection to Rafter
EF26W/AA, Endwall Interior Column Connection Detail, Column to Rafter Connection

EF26WA/AA, Purlin Clip Attachment at Endwall (Cold Formed), 8" 9 1/2" or 12" Purlins

EF26Y/AA, Endwall Interior Column Bracket Connection, At Ridge

EF26YA/AA, Endwall Interior Column Connection (Cold Formed), At Ridge

EF27/AA, Endwall Interior Column Connection at Special Setback

EF28/AA, Interior Column Connection, Rigid Frame Endwall

EF28A/AA, Interior Column Connection w/ Welded Clip, Rigid Frame Type V Endwall Interior Column

EF28BB/AA, Interior Column Connection w/ Welded Clip, Rigid Frame Endwall

EF29/AA, Rigid Frame Endwall w/ Center Column, Column to Rafter Connection using CL20 (L/R)

EF30/AA, Endwall Interior Column Connection to Welded Stiffener, Rigid Frame Endwall M- Column Location

EF31/AA, Section at Column w/ Strut Channel, Endwall Rafter

EF32/AA, Section at Endwall Column w/ Pipe Strut

EF33/AA, Type 'C', Endwall Rafter

EF33A/AA, Type 'CS' Endwall Rafter

EF34/AA, Type 'N', Endwall Rafter

EF35/AA, Type 'P', Endwall Rafter

EF36/AA, Type 'S', Endwall Rafter

Issued 11/7/2016



PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interor Column Connection

At Ridge
EFO1/AA
36" TO 40" MAX.
EFOTA EFO1AA
AB
4 cLIP
STD FRAME CHANNEL BRACE SR LR
BRACE 80C12- |
—
RIDGE PURLIN \
ENDWALL RAFTER

STRUCTURAL FASTENER(S)

#12X1 1/4

12 A325T/ — (10) PER CLIP

1/2 HVHX NUT FRAME BRACE
_ B4
+* || &
ey -
OR HOT ROLLED . (2) 1/2 A325T/
(BUILT-UP OR HOT ROLLED SHOWN) 12 HVHX NUT
(PER BRACKET)
| ™~—A
4172 A325T) 1112 11/2" ENDWALL
112 HVHX NUT EEZA_CKET
ENDWALL INTERIOR COLUMN CONNECTION EFO01

AT RIDGE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF01AA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Endwall Interior Column Connection
At Ridge Top View
EFO1A/AA

ENDWALL RAFTER \

112X1 1/4 A325T/
1/2 HYHX NUT
PER ATTACHMENT TO CHANNEL o

RIDGE PURLIN \ A}A EFX;AA
|
| 1/4" FROM BOTTOM
| & [ _ _% EDGE OF PURLINWEB 1/ — r;gz‘u \ j
1“
7 ! o O
STD. FRAME BRACE "
AND CONNECTION o o

-

CHANNEL BRACE
m\% / 80C12-

o | E O]
o _ _ il G OF RIDGE
g W _
RIDGE SPLICE PLATE 4 N ke d
|
e | FRAVE BRACE F%% |
4) 1/2X1 1/4 A325T/
: @ U2HVHXNUT o
| PER ATTACHMENT TO CL43_LII'|«: N0 e R
| 3 (TYP)
| m | o O
|'€El_____§ 1/4' FROMBOTTOM [N~ mzezal ~ / z
L EDGE OF PURLIN WEB (
| \
/ | L
RIDGE PURLIN STRUCTURAL FASTENER(S)
L #12X1 1/4
| 36" TO 40" MAX. (10) PER CLIP
ENDWALL INTERIOR COLUMN CONNECTION EF01A
AT RIDGE TOP VIEW AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF01AAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Connection Detail
Channel Brace at Ridge

EFO1AA/AB
EFO1
CLIP AA
CL43_LIR
PURLIN (TYP) o PURLIN
A1) (e =13 {
T
: | |
| | s
- L -
CHANNEL BRACE
80C12-
FRAME BRACE
IB-4
ENDWALL INTERIOR COLUMN CONNECTION DETAIL EF01AA
CHANNEL BRACE AT RIDGE AB

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF01AAAB.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail (Cold Formed)
Cee Endwall Interior Column to Cee Rafter Connection

EFO1B/AA
CLIP
CcL44_
(2) 1/2X1 1/4 A325T/
1/2 HVHX NUT (2) 1/2X1 1/4 A325T/
1/2 HVHX NUT
Y w
S, | ] RAFTER
==
| ol
. R
|l
|l
| i
==l
= |
I O ROy I : : (4) 1/2 A325T/
| i 1/2 HVHX NUT
: : I\NI\ ENDWALL COLUMN
I I
RAFTER ] J
\N'\ ool .-A.-
I I
I I
_J
LI/\,/\JIJ\ ENDWALL COLUMN
SECTION "A-A"
ENDWALL INTERIOR COLUMN CONNECTION DETAIL (COLD FORMED) EF01B
CEE ENDWALL INTERIOR COLUMN TO CEE RAFTER CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF01BAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail (Cold Formed)
At Ridge Section View
EFO1C/AA

EF01CB
AA
EF01CA
A 1
CLIP
(10) STRUCTURAL FASTENER(S) CL43_LR

PURLIN \\ #12X1 1/4

—\ T
———'C)—g————j é——y/
oo CHANNEL BRACE
80C13-
RIDGE SPLICE PLATE —__| o)
o [e] —P
| FRAME BRACE

I
I
: ° N FBR_
| | \ (12) 1/2 A325T/
: : 1/2 HVHX NUT
COLD-FORMEDU7/\JJ
ENDWALL COLUMN
ENDWALL INTERIOR COLUMN CONNECTION DETAIL (COLD FORMED) EF01C
AT RIDGE SECTION VIEW AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF01CAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail (Cold Formed)
At Ridge Top View

EFO1CA/AA
(4) 1/2X1 114 A325T/
1/2 HVHX NUT
PER ATTACHMENT TO CL43 LR
PURLIN \\ m r
)] " o
o
I
N (1) 1/2X1 1/4 A325T/ I |
1/2 HVHX NUT
PER ATTACHMENT TO CHANNEL 1 CHANNEL BRACE
™ FIELD DRILL 9/16"@ HOLE I 80C13-
RIDGE SPLICE PLATE |
\ 1| __ 0]
= /] ) ol
EFOIC 7 i |
AA FRAME BRACE U
L] FBR T
™ Il
COLD-FORMED [ CLIP
RAFTER 5 / CL43 LR
(TYP)
)y _O
PURLIN / EFRZ\CB ‘ (10) STRUCTURAL FASTENER(S)
#12X1 1/4
ENDWALL INTERIOR COLUMN CONNECTION DETAIL (COLD FORMED) EF01CA
AT RIDGE TOP VIEW AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF01CAAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail (Cold Formed)
Channel Brace at Ridge
EFO1CB/AA

EF01C

CLIP AA
CL43 LR

PURLIN PURLIN
% -
\j 9 :
©

CHANNEL BRACE / -
80C13-
FRAME BRACE

FBR_

0Q

Q

0

0Q |
0Q

ENDWALL INTERIOR COLUMN CONNECTION DETAIL (COLD FORMED) EF01CB
CHANNEL BRACE AT RIDGE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF01CBAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail (Cold Formed)
Cee Endwall Interior Column and Channel Brace Connection Top View
EF11/AA

EF11B | PURLIN
I _2(
o o

fimi)

CHANNEL BRACE
COLD-FORMED | / 80C12-
ENDWALL RAFTER \I\ I

COLD-FORMED } — T/\/T (2) 1/2X1 1/4 A325T/
ENDWALL COLUMN | | / 1/2 HVHX NUT
, ! FIELD DRILL 9/16"@ HOLE
o d\
. |
(2) 1/2X1 1/4 A325T/
1/2 HVHX NUT U : | S CLIP 11 11
| Cldd_ 138 ey e g 4
EF11BB . J I
AA O [e) [0) o]
I I ] |
I I | |
L 218, A2 138"
11720 12
+ ﬂ =2 l!_o O o o ":"[\/ 2
- | [ °°R}°] 7 7
PURLNCLP / SECTION "A-A"
TYP. PURLIN
A (8) STRUCTURAL FASTENER(S)
#12X1 1/4
ENDWALL INTERIOR COLUMN CONNECTION DETAIL (COLD FORMED) EF11
CEE ENDWALL INTERIOR COLUMN AND CHANNEL BRACE CONNECTION TOP VIEW AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF11AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Jamb Column Connection Detail (Cold Formed)
Cee Endwall Interior Jamb Column and Channel Brace Connection Top View

EF11/AB
SL
EF11B | PURLIN
i 2
T W Oooooooo; 7
| |
| | | CHANNEL BRACE
| | / 80C12-
COLD-FORMED | CLIP | |
ENDWALL RAFTER \\\ CL45_ I (2) 112X1 1/4 A325T/
COLD-FORMED ENDWALL o rr/\/Nﬂ/ 12 HVHX NUT
] | B FIELD DRILL 9/16"@ HOLE
INTERIOR JAMB COLUMN i =g
<
/| | | N\ CLIP /\,\
(2) 112X1 1/4 A325T/ oL
TZHVHXNUT : : - e g1 |
138 112 7 218"
EF11BB . J I,
AB O (@] o o
I I 1] |
M | |
! n ] (]
| | 218" 12 T 38
+ . o ‘Ho 0 0 o |]‘_\ 2
_ . e T
PURLINCLIP — SECTION "A-A"
TYP. PURLIN
A (8) STRUCTURAL FASTENER(S)
#12X1 1/4
ENDWALL INTERIOR JAMB COLUMN CONNECTION DETAIL (COLD FORMED) EF11
CEE ENDWALL INTERIOR JAMB COLUMN AND CHANNEL BRACE CONNECTION TOP VIEW AB

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF11AB.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail (Cold Formed)
Cee Endwall Interior Column to Cee Rafter and Channel Brace Connection

EF11B/AA
(2) 1/2X1 1/4 A325T/
1/2 HVHX NUT CLIP
PURLIN ClL44_
EF11
AA (2) 1/2X1 1/4 A325T/ \
PURLIN CLIP 1/2 HVHX NUT
TYP. FIELD DRILL 9/16"@ HOLE
COLD-FORMED COLD-FORMED
ENDWALL COLUMN ENDWALL RAFTER
! CHANNEL BRACE
‘o 80C12-
)
ENDWALL INTERIOR COLUMN CONNECTION DETAIL (COLD FORMED) EF11B
CEE ENDWALL INTERIOR COLUMN TO CEE RAFTER AND CHANNEL BRACE CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF11BAA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Endwall Interior Jamb Column Connection Detail (Cold Formed)
Cee EW Interior Jamb Column to Cee Rafter and Channel Brace Connection

EF11B/AB
(2) 1/2X1 1/4 A325T/
1/2 HVHX NUT
PURLIN
EF11
AB (2) 112X1 1/4 A325T/ 1
PURLIN CLIP 1/2 HVHX NUT
TYP. CLIP FIELD DRILL 9/16"@ HOLE
CLas_ CLIP
COLD-FORMED ENDWALL / COLD-FORMED
INTERIOR JAMB COLUMN ENDWALL RAFTER
¢ CHANNEL BRACE
—] 80C12-
_J
ENDWALL INTERIOR JAMB COLUMN CONNECTION DETAIL (COLD FORMED) EF11B
CEE EW INTERIOR JAMB COLUMN TO CEE RAFTER AND CHANNEL BRACE CONNECTION AB

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF11BAB.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail (Cold Formed)
Cee Endwall Interior Column to Cee Rafter and Channel Brace Connection

EF11BB/AA
ET1
AA
CLIP !
(2) 1/2X1 1/4 A325T/ ClL44.
172 HVHX NUT (2) 112X1 1/4 A325T/
_ 1/2 HVHX NUT
' 6 1 FIELD DRILL 9/16"@ HOLE
I O
| | a=
| | = =
| O | -
I AN O CHANNEL BRACE
COLD-FORMED | | | | 80C12-
ENDWALL RAFTER N\ O 10| \
| (4) 112 A325T)/
| | 1/2 HVHX NUT
| |
| |
| L] |
4
i |
| |
Ly COLD-FORMED
ENDWALL COLUMN
ENDWALL INTERIOR COLUMN CONNECTION DETAIL (COLD FORMED) EF11BB
CEE ENDWALL INTERIOR COLUMN TO CEE RAFTER AND CHANNEL BRACE CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF11BBAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail (Cold Formed)
Cee Endwall Interior Column to Cee Rafter and Channel Brace Connection

EF11BB/AB
(2) 1/2X1 1/4 A325T/
1/2 HVHX NUT
E11
AB |
CLIP CLIP
(2) 1/2X1 1/4 A325T/ CL45_ CL44_ (2) 1/2X1 1/4 A325T/
1/2 HYHX NUT 1/2 HVHX NUT
FIELD DRILL 9/16"@ HOLE
i I
S olllo & |
| | o
=y t=y
O e
N 211 . CHANNEL BRACE
COLD-FORMED | | 80C12-
ENDWALL RAFTER O | O \
N (4) 1/2 A325T/
1/2 HVHX NUT
4I| \
R COLD-FORMED ENDWALL
INTERIOR JAMB COLUMN
ENDWALL INTERIOR COLUMN CONNECTION DETAIL (COLD FORMED) EF11BB
CEE ENDWALL INTERIOR COLUMN TO CEE RAFTER AND CHANNEL BRACE CONNECTION AB

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF11BBAB.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Corner Column Connection Detail at Bldg. Eave
Column to Rafter Connection

EF12/AA
11/4"1 1/4"
IIAII
35/8" . . .
-] o
a | 9/16"@ HOLES
312" e %
[Ts) ||
. (2]
| oo
wn =
\ Al COLUMN NOT
o ENDWALL RAFTER g - | SHOWN FOR
— @ ® | CLARITY.
@
* (4) 112 A325T/ z| &
1/2 HVHX NUT ST
<~ CORNER COLUMN
$ co CoL G OF COLUMN
* LENGTH WILL VARY BASED UPON o
CONNECTION THICKNESS VIEW "A-A"
ENDWALL RAFTER SPLICE R
SAFETY PRECAUTION:
STAY WELL IN THE CLEAR OF LOADS
BEING MOVED BY ANY TYPE LIFTING
DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS.
CORNER COLUMN CONNECTION DETAIL AT BLDG. EAVE EF12
COLUMN TO RAFTER CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF12AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Bldg. Eave - Bearing Frame
Column to Rafter Connection 1/2" Bolts
EF12A/AA

STAY WELL IN THE CLEAR OF LOADS ¥
BEING MOVED BY ANY TYPE LIFTING > 1 1/47 1 1/47
DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS. A
"7 * (4) 1/2X1 1/4 A325T/ L i e
1/2 HVHX NUT 5 : ‘ RREE
JLL/ > i &
74 - I
”¢
il . __—9/16
Lt |1
T
<
>
% v o
N ENDWALL RAFTER - +T * ,
- o
A * (4) 1/2X1 1/4 A325T/ ' AR
1/2 HVHX NUT 1
5 |
\/\_/\ J ¢ OF COLUMN
CORNER COLUMN -
VIEW “A—A”

ENDWALL RAFTER SPLICE R
* LENGTH WILL VARY BASED UPON
CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT BLDG. EAVE — BEARING FRAME | FF12A
COLUMN TO RAFTER CONNECTION — 1/2"g BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF12AAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Corner Column Connection Detail at Lowside
Cee Endwall Corner Column to Cee Rafter Connection
EF12B/AA

(8) 1/2X1 1/4 A325T/
1/2 HVHX NUT RAFTER

RAFTER CLIP
CL-4=8"&91/2" RAFTERS \
CL42 = 12" RAFTERS

RAFTER
/ ||A||

(4) 1/2X1 1/4 A325T/
1/2 HVHX NUT

A
114",

11/4" \
|
HLQ L ENDWALL COLUMN
|
L
=y

T

]

'J\ ENDWALL COLUMN

L
SECTION "A-A" —
ENDWALL CORNER COLUMN CONNECTION DETAIL AT LOWSIDE EF12B
CEE ENDWALL CORNER COLUMN TO CEE RAFTER CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF12BAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Bldg. Eave - Bearing Frame
Column to Rafter Connection - 3/4" Bolts
EF12X/AA

SAFETY PRECAUTION:
STAY WELL IN THE CLEAR OF LOADS
BEING MOVED BY ANY TYPE LIFTING

11/4”
<
™
<
N

DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS.
" * (4) 3/4X2 A325T/ ‘* $ .
3/4 HVHX NUT ) . | | | Z
5 =
g < e o
- \ \
7 j 13/16"8
.
SX(BS)~ % T
@
. 3 S
e : N
ﬁ.
1’\ ~
ENDWALL RAFTER - ot ®
- \ s | =2
"A” * (4/) 3/4X2 A325T/ : NI
3/4 HVHX NUT o o
~—— CORNER COLUMN X |
" ~ <
~ ¢ OF COLUMN
T VIEW "A-A
* LENGTH WILL VARY BASED UPON ENDWALL RAFTER SPLICE B

CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT BLDG. EAVE — BEARING FRAME| FF12X
COLUMN TO RAFTER CONNECTION — 3/4”g BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF12XAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Bldg. Eave - Bearing Frame
Column w/ Stiffener to Rafter Connection - 1/2" Bolts
EF12Y/AA

SAFETY PRECAUTION: L
STAY WELL IN THE CLEAR OF LOADS Ny , ”
BEING MOVED BY ANY TYPE LIFTING — 1.1/4 1T 1/4
DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS. -

”p” x (4) 1/2X1 1/4 A325T/ B 1

1/2 HVHX NUT 5 : ‘ M=
> @ &

SX(BS)A

VARIES

vy

Vi j - | _{—9/18"
T
™

3y
~
\ ENDWALL RAFTER - +T ° ,
- o
"A” £ (4) 1/2X1 1/4 A325T/ ' =
1/2 HVHX NUT >
-~ CORNER COLUMN . |
o~ ~ ¢ OF COLUMN
VIEW "A—A”
* LENGTH WILL VARY BASED UPON ENDWALL RAFTER SPLICE R

CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT BLDG. EAVE — BEARING FRAME | FF12Y
COLUMN W/STIFFENERS TO RAFTER CONNECTION — 1/2"¢ BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF12YAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Bldg. Eave - Bearing Frame
Blocked Column w/ Stiffeners to Rafter Connection - 3/4" Bolts
EF12Z/AA

SThY WELL I THE ELEAR OF LOADS ¥
BEING MOVED BY ANY TYPE LIFTING > 11/2 11/2
DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS. A
”p * (4) 3/4X2 A325T/ ‘* $ ‘
3/4 HVHX NUT . . | | i 2
;‘- =
g < o o
- | |
7 j - 13/16"¢
/
SX(BS) ] % ]
T
<C
>
.
. iﬁ % | |
\
w \\ ENDWALL RAFTER - o @
A ‘ & =
% * (4) 3/4X2 A325T/ ' | ™S
3/4 HVHX NUT o o
- CORNER COLUMN - |
7~
N G OF COLUMN
T VIEW "A=A”
* LENGTH WILL VARY BASED UPON ENDWALL RAFTER SPLICE R

CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT BLDG. EAVE — BEARING FRAME| FF127/
BLOCKED COLUMN W/STIFFENERS TO RAFTER CONNECTION — 3/4”g BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF12ZAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Bldg. Eave - Bearing Frame
Column to Rafter Connection - 1/2" Bolts
EF13A/AA

STAY WELL N THE CLEAR OF LOADS N
BEING MOVED BY ANY TYPE LIFTING > 1 1/4r 1.1/4”
DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS. =
" * (4) 1/2X2 A325T/ o o ‘
1/2 HVHX NUT ) . | s 2
.ﬁ- E
e >~ i S
- \ \
:_;;}’/j "
. _—9/16
[ |1
o
<
.- >
;i Y o
N >
' ENDWALL RAFTER +T ° '
- R
a * (4) 1/2X2 A325T/ ' | ™| S
1/2 AVHX NUT R
- CORNER COLUMN :, |
L~ ~ G OF COLUMN
VIEW "A—A”

ENDWALL RAFTER SPLICE R

* LENGTH WILL VARY BASED UPON
CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT BLDG. EAVE — BEARING FRAME | FF13A
COLUMN TO RAFTER CONNECTION — 1/2"g BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF13AAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Bldg. Eave - Bearing Frame
Column to Rafter Connection - 3/4" Bolts
EF13X/AA

SAFETY PRECAUTION:
STAY WELL IN THE CLEAR OF LOADS
BEING MOVED BY ANY TYPE LIFTING

11/4”
<
™
<
N

DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS.
" * (4) 3/4X2 A325T/ ‘* $ ‘
/ 3/4 HVHX NUT . | | L Z
] =
ﬁ.
Iy S| ee
:r%j — ‘ ‘ .
. _—13/1670
Lol |-
x
. B <
% 5 o
AN ~
ENDWALL RAFTER - o @
— | s ;
A" £ (4) 3/4X2 A325T/ ' | w2
3/4 HVHX NUT o o
~— CORNER COLUMN - |
- ~ <t
N ¢ OF COLUMN
T VIEW "A=A”
* LENGTH WILL VARY BASED UPON ENDWALL RAFTER SPLICE R

CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT BLDG. EAVE — BEARING FRAME| FF13X
COLUMN TO RAFTER CONNECTION — 3/4”g BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF13XAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Connection Detail at Highside Eave
Column to Rafter Connection

EF14/AA
11/4"11/4" 1/2"
“A“ 74[4»
— e
i\.; é //911 6"Q HOLES 31/2"
2 /1 ~ S
h &
g o COLUMN NOT
= SHOWN FOR
HIGHSIDE ENDWALL
. ! t CLARITY. RAFTER
7
L
| &I
<| o *(4) 1/2 A325T/
=1 = —f— 112 HVHX NUT
VIEW "A-A" * LENGTH WILL VARY BASED ON
ENDWALL RAFTER SPLICE R CONNECTION THICKNESS
SAFETY PRECAUTION:
STAY WELL IN THE CLEAR OF LOADS
BEING MOVED BY ANY TYPE LIFTING
DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS.
CORNER COLUMN CONNECTION DETAIL AT HIGHSIDE EAVE EF14
COLUMN TO RAFTER CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF14AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Highside Eave - Bearing Frame
Column to Rafter Connection - 1/2" Bolts
EF14A/AA

o SAFETY PRECAUTION:
» » STAY WELL IN THE CLEAR OF LOADS
> 1 1/4 11/4 BEING MOVED BY ANY TYPE LIFTING

DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS.
B e * (4) 1/2X1 1/4 A325T/ "

. : ‘ | | £ 1/2 "HVHX NUT

> o e N

- o ) %
o _{—9/1878
L LT
©
<C
>

T ] 74}

o o o /T_

~ , | | | 2 HIGHSIDE ENDWALL RAFTER

R ¥ (4) 1/2X1 1/4 A325T/ A
| 1/2 "HVHX NUT
5
> & OF COLUMN CORNER COLUMN/\/\_/_
VIEW "A—A”
ENDWALL RAFTER SPLICE R * LENGTH WILL VARY BASED UPON

CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT HIGHSIDE EAVE — BEARING FRAME| FF14A
COLUMN TO RAFTER CONNECTION — 1/2"g BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF14AAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Corner Column Connection Detail at Highside Eave
Cee Endwall Corner Column to Cee Rafter Connection

EF14B/AA
(4) 1/2X1 1/4 A325T/
1/2 HVHX NUT RAFTER
RAFTER CLIP
CL-4=8"& 9 1/2" RAFTERS
CL42 = 12" RAFTERS
S L
4ll
RAFTER
/
- AR
114" QE 114 \
HLQ ' ENDWALL COLUMN
|
Lon )
== =
| |
| |
| |
| | \
L — I ENDWALL COLUMN |
SECTION "A-A"
ENDWALL CORNER COLUMN CONNECTION DETAIL AT HIGHSIDE EAVE EF14B
CEE ENDWALL CORNER COLUMN TO CEE RAFTER CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF14BAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Highside Eave - Bearing Frame
Column to Rafter Connection - 3/4" Bolts

EF14X/AA
¥ TN WELL N THE GLEAR OF LOADS
> 1 1/2 1.1/2" BEING MOVED BY ANY TYPE LIFTING
DEVICE. BE SURE TO KEEP HANDS
A AND FEET CLEAR OF MOVING LOADS.
‘— $ x (4) 3/4X2 A325T/ "
| | etz 3/4 HVHX NUT
B =
ﬁ.
X ° | e f
— | | % \
. 1371870 . _sx(es)
Ll -]
T
<C
> g
o
s | | '
g ® /P_
_ & | _T_  HIGHSIDE ENDWALL RAFTER
' | S x (4) 3/4X2 A325T/ A
o o 3/4 HVHX NUT
] ‘ /
T~
§ ¢ oF COLUMN CORNER COLUMN
VIEW "A—A" * LENGTH WILL VARY BASED UPON
ENDWALL RAFTER SPLICE R CONNECTION THICKNESS
CORNER COLUMN CONN. DETAIL AT HIGHSIDE EAVE — BEARING FRAME| EF 14X
COLUMN TO RAFTER CONNECTION — 3/4"g BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF14XAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Highside Eave - Bearing Frame
Column w/ Stiffeners to Rafter Connection - 1/2" Bolts

EF14Y/AA
¥ TN WELL N THE GLEAR OF LOADS
> 11/ 1.1/47 BEING MOVED BY ANY TYPE LIFTING
DEVICE. BE SURE TO KEEP HANDS
A AND FEET CLEAR OF MOVING LOADS.
N R  (4) 1/2X1 1/4 A325T/ "
. ' | | Z 1/2" HVHX NUT
> - o \JJL
- o ) %‘
L L - SX(BS)
[h'e
<C
>
I |
% A
o RS /f
- , | E HIGHSIDE ENDWALL RAFTER
o o x (4) 1/2X1 1/4 A325T/ A
| 1/2" HVHX NUT
5,
> “© OF COLUMN CORNER COLUMN/\/\/.
VIEW "A—A”
ENDWALL RAFTER SPLICE R *ENGTH WILL VARY BASED UPON

CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT HIGHSIDE EAVE — BEARING FRAME| FF14Y
COLUMN W/STIFFENERS TO RAFTER CONNECTION — 1/2"¢ BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF14YAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Highside - Bearing Frame
Blocked Column w/ Stiffeners to Rafter Connection - 3/4" Bolts

EF14Z/AA
NS R WELL N THE CLEAR OF LOADS
> 11/ 11/2" BEING MOVED BY ANY TYPE LIFTING
DEVICE. BE SURE TO KEEP HANDS
- AND FEET CLEAR OF MOVING LOADS.
o o x (4) 3/4X2 A325T/ "
IR O 3/4 HVHX NUT
S =
ﬁ.
N o | ® Nl
— \ \ Af \
13/16"¢ -
0 P —sX(BS)
Lo ]
o
<C
>
7_4 n
; | | '
<ol g
_ 7‘ N L= HIGHSIDE ENDWALL RAFTER
' | IS x (4) 3/4X2 A325T/ A
o o 374 TvHX NUT
N \
I G OF COLUMN CORNER COLUMN—" e~
VIEW "A—A" * LENGTH WILL VARY BASED UPON
ENDWALL RAFTER SPLICE B CONNECTION THICKNESS
CORNER COLUMN CONN. DETAIL AT HIGHSIDE EAVE — BEARING FRAME| EF147
BLOCKED COLUMN W/ST|FFENERS TO RAFTER CONNECTION — 3/4"¢ BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF14ZAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Highside Eave - Bearing Frame
Column to Rafter Connection - 1/2" Bolts

EF16A/AA
¥ TN WELL N THE GLEAR OF LOADS
> 1/ 1.1/47 BEING MOVED BY ANY TYPE LIFTING
DEVICE. BE SURE TO KEEP HANDS
N AND FEET CLEAR OF MOVING LOADS.
N T * (4) 1/2X1 1/4 A325T/ "
: : ‘ | | S 1/2 HVHX NUT
> o & N\
— ‘ ‘ . %//—_?
Lol |1
x
<C
>
“{ | | %} e
o e o /T
o : | | | 2 HIGHSIDE ENDWALL RAFTER
o o * (4) 1/2X1 1/4 A325T/ A
1/2 HVHX NUT
“ | CORNER COLUMN ——
~ ¢ OF COLUMN
VIEW “A—A”
ENDWALL RAFTER SPLICE R
* LENGTH WILL VARY BASED UPON
CONNECTION THICKNESS
CORNER COLUMN CONN. DETAIL AT HIGHSIDE EAVE — BEARING FRAME| EF16A
COLUMN TO RAFTER CONNECTION — 1/2”¢ BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF16AAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Conn. Detail at Highside Eave - Bearing Frame
Column to Rafter Connection - 3/4" Bolts
EF16X/AA

o SAFETY PRECAUTION:
» » STAY WELL IN THE CLEAR OF LOADS
> 11/2 1.1/2 BEING MOVED BY ANY TYPE LIFTING

DEVICE. BE SURE TO KEEP HANDS
AND FEET CLEAR OF MOVING LOADS.

$f $ * (4) 3/4X2 A325T/ »p
| | a2 3/4 HVHX NUT
S =
ﬁ.
N o o F _
I
- | | % = |
. //13/16 ¢ -
Lol |-
o
<C
. A
un
: | | '
§ ® ® /E_
_ " e HIGHSIDE ENDWALL RAFTER
| | = % (4) 3/4X2 A325T/ A
o o 3/4 HVHX NUT
2 |
N ¢ OF COLUMN CORNER COLUMN/J\/—
VIEW "A—A" * LENGTH WILL VARY BASED UPON
ENDWALL RAFTER SPLICE R CONNECTION THICKNESS

CORNER COLUMN CONN. DETAIL AT HIGHSIDE EAVE — BEARING FRAME| FF16X
COLUMN TO RAFTER CONNECTION — 3/4”g BOLTS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF16XAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Rotated Corner Column Connection to Rafter at Low Side Eave
Beam & Column Endwall

EF17/AA
IIAII
=
= = =|ﬂ= = |
/m —
EAVE STRUT CLIP — | _ I |
(SHOP WELDED TO —— ® ®
COLUMN WEB) :I
Il
I RAFTER e e
I‘I |
I (4) 1/2X1 1/4 A325T/ P
Il 112 HVHX NUT
Il RAFTER —|
Il
ROTATED
L CORNER ROTATED/ |
COLUMN T~ — ]
CORNER r T
COLUMN t_,
OF RAFTER
SAFETY PRECAUTION: FROM OUTSIDE FLANGE
STAY WELL IN THE CLEAR OF LOADS BEING
MOVED BY ANY TYPE LIFTING DEVICE. VIEW "A™"A"
BE SURE TO KEEP HANDS AND FEET CLEAR ENDWALL RAFTER SPLICE R
OF MOVING LOADS.
ROTATED CORNER COLUMN CONNECTION TO RAFTER AT LOW SIDE EAVE EF17
BEAM & COLUMN ENDWALL AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF17AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Rotated Corner Column Connection to Rafter at High Side Eave
Beam & Column Endwall with Column Extended Above Rafter for Eave Strut Bracket Attachment
EF18/AA

"
/
EAVE STRUT CLIP
| (SHOP WELDED TO
® L COLUMN WEB)
/
HAH /
® | ® RAFTER /
/ [ — (4) 1/2X1 1/4 A325T/
CORNER T 112 HVHX NUT
COLUMN /
RAFTER —| - —1 ROTATED
g CORNER
| L COLUMN
OF RAFTER SAFETY PRECAUTION:
N STAY WELL IN THE CLEAR OF LOADS BEING
VIEW"A"-"A" MOVED BY ANY TYPE LIFTING DEVICE.
ENDWALL RAFTER SPLICE i BE SURE TO KEEP HANDS AND FEET CLEAR
OF MOVING LOADS.
ROTATED CORNER COLUMN CONNECTION TO RAFTER AT HIGH SIDE EAVE EF18
BEAM & COLUMN ENDWALL WITH COLUMN EXTENDED ABOVE RAFTER FOR EAVE STRUT BRACKET ATTACHMENT AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF18AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Rotated Corner Column Connection to Rafter with High Side Purlin
Beam & Column and Open SW with Column Cutback for Purlin Clearance

EF18A/AA
"
1]
@ [ ] 1]
I
| I
Il
® | o RAFTER ”
I
ROTATED / | (4) 112X1 1/4 A325T/ I
/|:|
CORNER COLUMN 1/2 HVHX NUT I
(OUTSIDE FLANGE) Il
/\“/‘\
/ . ROTATED
RAFTER — 1L—" ] CORNER COLUMN
€ OF RAFTER
SAFETY PRECAUTION:
VEW A STAY WELL IN THE CLEAR OF LOADS BEING
VIEWAA" MOVED BY ANY TYPE LIFTING DEVICE.
ENDWALL RAFTER SPLICE R BE SURE TO KEEP HANDS AND FEET CLEAR
OF MOVING LOADS.
ROTATED CORNER COLUMN CONNECTION TO RAFTER WITH HIGH SIDE PURLIN EF18A
BEAM & COLUMN EW AND OPEN SW WITH COLUMN CUTBACK FOR PURLIN CLEARANCE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF18AAA.dwg

PRODUCT MANUAL
) PRIMARY FRAMING
AMERICAN

BUILDINGS

A NLWCOR COMPANY

Corner Column Connection to Rafter (Flush or Inset Girts)

Beam & Column Endwall with Rafter Extended Above Column
EF20/AA

NOTE:
LOW SIDE SHOWN, HIGH SIDE SIMILAR

EAVE STRUT PLATE
ESP-_
(SHOP WELDED

ENDWALL RAFTER

(4) 172X1 114 A325T/ /

1/2 HVHX NUT

- N
\ / ENDWALL CORNER COLUMN

CORNER COLUMN CONNECTION TO RAFTER (FLUSH or INSET GIRTS) EF20

BEAM & COLUMN ENDWALL WITH RAFTER EXTENDED ABOVE COLUMN

Download the DWG file by clicking here.

To Section Index

Issued 11/7/2016



../../SSUB/EF20AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Corner Column Connection to Rafter (Bypass Girts)
Beam & Column Endwall with Rafter Extended Above Column
EF20R/AA

NOTE:
LOW SIDE SHOWN, HIGH SIDE SIMILAR

EAVE STRUT BRACKET
ESB_-

_ ENDWALL RAFTER
(SHOP WELDED)

(4) 1/2X1 14 A325T) /
1/2 HVHX NUT
v
\ /\ ENDWALL CORNER COLUMN
CORNER COLUMN CONNECTION TO RAFTER (BYPASS GIRTS) EF20R
BEAM & COLUMN ENDWALL WITH RAFTER EXTENDED ABOVE COLUMN AA

Download the DWG file by clicking here.

To Section Index

Issued 11/7/2016


../../SSUB/EF20RAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Rotated Corner Column Connection to Rafter (Flush or Inset Girts)
Beam & Column Endwall with Rafter Extended Above Column
EF21/AA

NOTE:
LOW SIDE SHOWN, HIGH SIDE SIMILAR

EAVE STRUT PLATE
ESP-_
(SHOP WELDED

ENDWALL RAFTER

(4) 1/2X1 1/4 A325T/ e
1/2 HVHX NUT

SN
/ ROTATED ENDWALL CORNER COLUMN

]

ROTATED CORNER COLUMN CONNECTION TO RAFTER (FLUSH or INSET GIRTS) EF21
BEAM & COLUMN ENDWALL WITH RAFTER EXTENDED ABOVE COLUMN AA

Download the DWG file by clicking here.

To Section Index

Issued 11/7/2016


../../SSUB/EF21AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Rotated Corner Column Connection to Rafter (Bypass Girts)
Beam & Column Endwall with Rafter Extended Above Column
EF21R/AA

NOTE:
LOW SIDE SHOWN, HIGH SIDE SIMILAR

EAVE STRUT BRACKET
ESB_-

_ ENDWALL RAFTER
(SHOP WELDED)

(4) 112X1 1/4 A325T/ 7

1/2 HYHX NUT
/ ™~ \
ROTATED ENDWALL CORNER COLUMN
]
ROTATED CORNER COLUMN CONNECTION TO RAFTER (BYPASS GIRTS) EF21R
BEAM & COLUMN ENDWALL WITH RAFTER EXTENDED ABOVE COLUMN AA

Download the DWG file by clicking here.

To Section Index

Issued 11/7/2016


../../SSUB/EF21RAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Rafter Splice Detail
Rafter to Rafter Connection
EF22/AA

SAFETY PRECAUTION:

WORKERS SHOULD BE TRAINED IN
THE CORRECT AND SAFE OPERATION
OF LIFTING EQUIPMENT. 3/4 A325T/

3/4 HVHX NUT
QTY. BY DESIGN

ENDWALL RAFTER
ENDWALL RAFTER SPLICE DETAIL EF22
RAFTER TO RAFTER CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF22AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Rafter Ridge Detail (Hot Rolled and Built-Up)
Rafter w/ Ridge Splice Plate
EF23/AA

SAFETY PRECAUTION:

EACH WORKER SHOULD BE TRAINED
TO USE THE SAFEST AND MOST
PRODUCTIVE ERECTION TECHNIQUES.

ENDWALL RAFTER
3/4 A325T/
3/4 HVHX NUT
QTY. BY DESIGN
ENDWALL RAFTER RIDGE DETAIL (HOT ROLLED AND BUILT-UP) EF23
RAFTER W/RIDGE SPLICE PLATE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF23AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Rafter Ridge Detail (Cold Formed)
Rafter w/ Ridge Splice Plate
EF23A/AA

SAFETY PRECAUTION:

EACH WORKER SHOULD BE TRAINED
TO USE THE SAFEST AND MOST
PRODUCTIVE ERECTION TECHNIQUES.

(8) 1/2 A325T/

1/2 HVHXNUT ENDWALL RAFTER
ENDWALL RAFTER RIDGE DETAIL (COLD FORMED) EF23A
RAFTER WIRIDGE SPLICE PLATE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF23AAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection (Hot Rolled or Built-Up)

At Ridge
EF24Y/AA
(4) 1/2 A325T/
1/2 HVHX NUT
ENDWALL RAFTER /
i
(PER BRACKET) /
(4) 1/2 A325T/
1/2 HVHX NUT ni -
/ I \ENDWALL COLUMN BRACKET
SPECIAL ENDWALL I \BKZ.
COLUMN Bm%‘;fg - ENDWALL COLUMN
ENDWALL INTERIOR COLUMN CONNECTION (HOT ROLLED OR BUILT-UP) EF24Y
AT RIDGE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF24YAA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Endwall Interior Column Connection (Cold Formed)
At Unsymmetrical Ridge

EF24YA/AA
ﬁ. ENDWALL RAFTER
ﬁ.@ \—(8) 1/2 A325T/
1/2 HVHX NUT
ENDWALL RAFTER
@RARST || S coLumy
ENDWALL INTERIOR COLUMN CONNECTION (COLD FORMED) EF24YA
AT UNSYMMETRICAL RIDGE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF24YAAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Rafter Splice Detail (Cold Formed)
Rafter w/ Intermediate Splice Plate
EF25/AA

SAFETY PRECAUTION:

EACH WORKER SHOULD BE TRAINED
TO USE THE SAFEST AND MOST
PRODUCTIVE ERECTION TECHNIQUES.

ENDWALL RAFTER

(4) 1/2 A325T/
1/2 HVHX NUT
ENDWALL RAFTER SPLICE DETAIL (COLD FORMED) EF25
RAFTER w/INTERMEDIATE SPLICE PLATE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF25AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Ridge Column Connection to Rafter

EF26/AA
SAFETY PRECAUTION:
STAY CLEAR OF ANY MOVING LOAD.
MAKE CERTAIN ALL FRAMING IS PROPERLY
BRACED OR GUYED BEFORE LIFTING LINES
ﬂ A ARE REMOVED.
12
RISE ¢ ATRIDGE
e
\
\
11/4"||1 1/4
vy oy B ‘ B
\(4) 112" A325T/
1/2 HVHX NUT
ENDWALL /
RIDGE COLUMN T L_/
d A -
SECTION A-A
RIDGE COLUMN CONNECTION TO RAFTER EF26
AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF26AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection Detail
Column to Rafter Connection

EF26W/AA
AIBT T ———— ——————
A2 HVHXNUT |
WITH (2) WASHERS
(1) EACH SIDE PURLIN
N
QRN
AN N
AN AN
FRAME BRACE
(8) 112 A325T/ N \
1/2 HVHX NUT (2) 112 A325T/
1/2 HVHX NUT
MAY VARY
S SEE BSO1AA
SEE SECTION 5, PAGE 1.4a
ENDWALL RAFTER
STIFFENER
112 A325T/
1/2 HVHX NUT
ENDWALL INTERIOR COLUMN
COLD-FORMED, BUILT-UP OR
HOT ROLLED
(BUILT-UP OR HOT ROLLED SHOWN) SAFETY PRECAUTION.
WORKERS SHOULD BE TRAINED IN
THE PROPER ERECTION PROCEDURES
FOR ALL JOBS.
ENDWALL INTERIOR COLUMN CONNEGTION DETAIL EF26W
COLUMN TO RAFTER CONNECTION AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF26WAA.dwg
SECONDARY_FRAMING_-_BR-BS-MF-OF_1.pdf#BS01/AA

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Purlin Clip Attachment at Endwall (Cold Formed)
8",91/2" or 12" Purlins
EF26WA/AA

4ll

1/2X1 1/4 A325T/
1/2 HYHX NUT A

(2) PER PURLIN <_| / PURLIN

—— NN
\

\
STRUCTURAL FASTENER(S) — \O
#12X1 1/4 \b
PURLIN RAKE ANGLE /

(2) 1/2X1 114 A325T/
112 HVHX NUT i)

PURLIN CLIP

ENDWALL RAFTER :

" All

PURLIN CLIP
SEE CHART

ENDWALL RAFTER

SECTION "A-A"

PURLIN CLIP ATTACHMENT AT ENDWALL (COLD FORMED) EF26WA
8,9 1/2" OR 12" PURLINS AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF26WAAA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Endwall Interior Column Bracket Connection

At Ridge
EF26Y/AA
SAEETY OPRECAléTIgN: EFo1
EACH WORKER SHOULD BE TRAINED
TO USE THE SAFEST AND MOST AA ENDWALL RAFTER
PRODUCTIVE ERECTION TECHNIQUES. I\
I
I I
| l (4) 112 A325T/
I I 1/2 HVHX NUT
FRAME BRACE | I
B4 L Al
I I
I I
1/2 A325T/ I_ - _I
1/2 HVHX NUT _
13
1||
(2) 1/2 A325T/ /m
1/2 HVHX NUT
(PER BRACKET) y —
4) 1/2 A325T/
1(/2) HVHX NUT * SPECIAL BRACKET MUST BE
DETAILED FOR ROOF SLOPES
>6:12
ENDWALL COLUMN BRACKET
* BK2_ \ENDWALL COLUMN
ENDWALL INTERIOR COLUMN BRACKET CONNECTION EF26Y
AT RIDGE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF26YAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection (Cold Formed)

At Ridge
EF26YA/AA
SAFETY PRECAUTION: %
EACH WORKER SHOULD BE TRAINED
.Fl;g(l)ngIJEJTI-II\EEséFEEg-'II-'I/(\)':IDTII\EAgI-SI;IQUES. ENDWALL RAFTER
(8) 112 A325T/
1/2 HVHX NUT
| |
N
: | (4) 172 A325T/
| | 1/2 HVHX NUT
| ‘g.
|
e
| s
L/'xL\ENDWALL COLUMN
ENDWALL INTERIOR COLUMN CONNECTION (COLD FORMED) EF26YA
AT RIDGE AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF26YAAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection at Special Setback

EF27/AA

SAFETY PRECAUTION:

EACH WORKER SHOULD BE TRAINED
TO USE THE SAFEST AND MOST
PRODUGTIVE ERECTION TECHNIQUES.

ENDWALL SETBACK < 24 3/8"
ENDWALL COLUMN ENDWALL INTERIOR RIGID FRAME RAFTER
HOT ROLLED COLUMN CLIP
7 P
CUTBACK B z
VARIES

4 3/16"

i
SLoT — i —Q'—: 81/2" i |
Q 7T I

2120 3 1 i ;
3/4 A325T/ (2) 3/4 A325T/
3/4 HVHX NUT w/ 3/4 HVHX NUT w/
(1) 3/4 H WASHER EACH (1) 3/4 H WASHER EACH
ATSLOTSIDE AT SLOT SIDE

FINGER TIGHTEN AND DEFORM
THREADS. THIS CONNECTION
IS DESIGNED TO MOVE.

ENDWALL INTERIOR COLUMN CONNECTION AT SPECIAL SETBACK EF27

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF27AA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Interior Column Connection

Rigid Frame Endwall
EF28/AA

146"

ENDWALL INTERIOR
COLUMN CLIP
CL1eC

A‘—l_

-

CUTBACKBI
L : =
PRV | a8 o | |
sloTg —
|y U1
el o ||
21| 3
! I
| I
ENDWALL SIDE——1 I I
I I
A
COLD-FORMED IfI\/\/\U
ENDWALL COLUMN

CLIP CONNECTION TO COLUMN

RIGID FRAME
RAFTER
234" (2) 3/4 A325T/
3/4 HVHX NUT EACH
r WITH (1) 3/4 H WASHER EACH
298 AT SLOT SIDE
FINGER TIGHTEN AND DEFORM
THREADS. THIS CONNECTION
1S DESIGNED TO MOVE.
ENDWALL INTERIOR-
COLUMN CLIP
= e ] cL1sc
(@) 34 A325TI
3/4 HVHX NUT w/
(1) 3/4 H WASHER EACH
AT SLOT SIDE

INTERIOR COLUMN CONNECTION

‘SAFETY PRECAUTION:
EACH WORKER SHOULD BE TRAINED
TO USE THE SAFEST AND MOST
PRODUCTIVE ERECTION TECHNIQUES.
COLD-FORMED
ENDWALL COLUMN

SECTION A-A

EF28

RIGID FRAME ENDWALL

:

To Section Index

Download the DWG file by clicking here.

Issued 9/28/2016


../../SSUB/EF28AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Interior Column Connection w/ Welded Clip
Rigid Frame Type V Endwall Interior Column

EF28A/AA
SAFETY PRECAUTION:
EACH WORKER SHOULD BE TRAINED
TO USE THE SAFEST AND MOST
e PRODUCTIVE ERECTION TECHNIQUES.
RIGID FRAME
e | e RAFTER
—-'—'—-—
CUTBACK B |
VARES < | |
I
|
O O | 8 1/ "
|
36" |
(2) 314 A325T/
/ 3/4 HVHX NUT w/
COLUMN CLIP (1) 3/ HWASHER EACH
CL18
SHOP WELDED
T BUILT-UP OR HOT ROLLED
STUB COLUMN
SEE GABLE KNEE BRACE DETAILS FOR
OVERALL LENGTH NOT TO EXCEED 2-3 1/2" FRAME BRACE/"KICKER" REQUIREMENTS.
WITHOUT DESIGN APPROVAL BY DESIGN.
INTERIOR COLUMN CONNECTION w/WELDED CLIP EF28A
RIGID FRAME TYPE V ENDWALL INTERIOR COLUMN AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF28AAA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Interior Column Connection with Welded Clip

Rigid Frame Endwall

EF28BB/AA
SAFETY PRECAUTION:
EACH WORKER SHOULD BE TRAINED
TO USE THE SAFEST AND MOST
PRODUCTIVE ERECTION TECHNIQUES.
1 |_6|I
CUTBACK B 2
VARIES
/ 1/ n ;
@Q\
82) 3/4 A325T
\ /4 HVHX NUT EACH
| ,
j / - \
2 X 5/16" — A1 e SPECIAL BRACKET RB1X-
STIFFENER
(BOTH SIDES) 75% OF WEB 10"
' MIN MAX
\ RIGID FRAME RAFTER
ENDWALL COLUMN
| — ] HOT ROLLED OR BUILT-UP

INTERIOR COLUMN CONNECTION WITH WELDED CLIP

EF28BB

RIGID FRAME ENDWALL

AA

To Section Index

Download the DWG file by clicking here.

Issued 9/28/2016


../../SSUB/EF28BBAA.dwg

PRODUCT MANUAL

PRIMARY FRAMING
AMERICAN
BUILDINGS

A NLWCOR COMPANY

Rigid Frame Endwall with Center Column
Column to Rafter Connection using CL20_(L/R)

SAFETY PRECAUTION:
3/4 A325T/ EACH WORKER SHOULD BE TRAINED
4 HVHX NUT INTERIOR COLUMN 7O USE THE SAFEST AND NOST
CLIP ANGLE PRODUCTIVE ERECTION TECHNKIUES.
FINGER TIGHTEN AND DEFORM CL20_(LR) ATTACH CLIP TO RAFTER SPLICE PLATE USING
THREADS, THIS CONNECTION (SEE}ABLE 3 (2) A325T | HVHX NUT
1S DESIGNED TO MOVE WITH (2) H WASHERS PER BOLT
(SEE TABLE *)
[ et
T A | f INTERIOR COLUMN INTERIOR COLUMN
& 4—| CLIP ANGLE CLIP ANGLE
cL20L CL20 R * ATTACHMENT MEMBERS AT RAFTER SPLICE PLATE
B LI L (SEETABLE") (SEE TABLE ") CLIP ANGLE A325T BOLTS HVHX NUT WASHER
‘Do (1)EACHLR | (2)PERSPLICEPLATE | (1)PERBOLT | (2)PERBOLT
CL20AL 314 A325T 34 HVHXNUT | 34 WASHERS
SECTION A-A, AT RAFTER SPLICE PLATES CL20AR
CL20BL
gz 718 A325T TBHVHXNUT | 7/8 WASHERS
BULT-UPOR — | 3/4 A325T/ g%lﬁ 1 A325T 1 HVHX NUT 1 WASHERS
HOT ROLLED 34 HVHX NUT
ENDWALL COLUMN O FINGER TIGHTEN AND DEFORM
THREADS, THIS CONNECTION
1S DESIGNED TO MOVE
INTERIOR COLUMN INTERIOR COLUMN
CLIP ANGLE CLIP ANGLE
/ CL20R cL20 L
GOFRIGID
. FRAME RAFTER
SECTION B-B, AT COLUMN WEB
RIGID FRAME ENDWALL WITH CENTER COLUMN EF29
COLUMN TO RAFTER GONNECTION USING CL20_ (LIR) AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF29AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Endwall Interior Column Connection to Welded Stiffener
Rigid Frame Endwall M-Column Location
EF30/AA

SAFETY PRECAUTION:
[EACH WORKER SHOULD BE TRAINED
146 TO USE THE SAFEST AND MOST
PRODLICTIVE ERECTION TECHNKIUES.
ENDWALL COLUMN ENDWALL INTERIOR
HOT ROLLED 634 MIN. COLUMN CLIP 1172

ENDWALL INTERIOR
ORBUILT-UP A CL18SLENGTH COLUMN CLIP
- /~RICID FRAME RAFTER CL18S-LENGTH
1
CUTBACK B
VARI'ES_'_I c
4am6°

I
i
SLOT¢ — &) ﬂ: 24

o g | 8l —
2| i ‘
34 A325T/ / |: (2)3/4 A325T/
34 HVHX NUT EACH |__ || 314 HVHX NUT EACH
WITH (1) 3/4 H WASHER EACH WITH (1) /4 H WASHER EACH
AT SLOT SIDE AT NNECTION STIFFENER ENDWALL COLUMN || ATSLOT SIDE
FINGER TIGHTEN AND DEFORM X HOT ROLLED FINGER TIGHTEN AND DEFORM
THREADS. THIS CONNECTION A 3/4 HVHX NUT ORBULT-UP 4 THREADS. THIS CONNECTION
IS DESIGNED TO MOVE. 1S DESIGNED TO MOVE.
DE[AILING NOTE
OVERALL LENGTH NOT TO EXCEED 23 112"
PITHOUT DESIGN ARPROVAL _SECTIONAA
ENDWALL INTERIOR COLUMN CONNECTION TO WELDED STIFFENER EF30

RIGID FRAME ENDWALL M-COLUMN LOCATION

:

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF30AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Section at Column w/ Strut Channel
Endwall Rafter

EF31/AA
(2) 1/2 A325T/
STRUT PURLIN 1{,?}&‘(,';'3&“
SEE BSO01AA
___________________ RAFTER FLANGE THICKNESS
___________________ GREATER THAN 1/2"
WITH SHOP WELDED CLIP
SEE RF54AAA
AN
o) N
N N
~ N
———————— —
N (4) 1/2 A325T/
N 1/2 HVHX NUT
N
RN STRUT CHANNEL
. 80C12-
~ (i
11/4" 1 1/4" 2 314
ENDWALL INTERIOR COLUMN
COLD-FORMED, BUILT-UP OR \
HOT ROLLED
(BUILT-UP OR HOT ROLLED SHOWN)
SECTION AT COLUMN w/ STRUT CHANNEL EF31
ENDWALL RAFTER AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF31AA.dwg
SECONDARY_FRAMING_-_RF_1.pdf#RF54A/AA
SECONDARY_FRAMING_-_BR-BS-MF-OF_1.pdf#BS01/AA

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Section at Endwall Column w/ Pipe Strut

EF32/AA
(2) 112 A325T/
PURLIN 1/2 HVHX NUT
MAY VARY
SEE BSO1AA
I e e A RAFTER FLANGE THICKNESS
GREATER THAN 1/2"
WITH SHOP WELDED CLIP
SEE RF54AAA
>N
< @ AN
N N
AN N\
N~ F i 0 ENDWALL RAFTER
_____ > |
(4) 172 A325T/
NNk S / 112 HVHX NUT
N
__________ © [HEn
PIPE STRUT /
(NOT TO BE USED
WITH ENDWALL
CHANNEL RAFTER)
\ENDWALL INTERIOR COLUMN
COLD-FORMED, BUILT-UP OR
HOT ROLLED
(BUILT-UP OR HOT ROLLED SHOWN)
SECTION AT ENDWALL COLUMN w/ PIPE STRUT EF32
AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF32AA.dwg
SECONDARY_FRAMING_-_RF_1.pdf#RF54A/AA
SECONDARY_FRAMING_-_BR-BS-MF-OF_1.pdf#BS01/AA

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Type 'C'
Endwall Rafter
EF33/AA
STRUT
/ PURLIN
STRUT FRAME
PURLIN BRACE
(TYPICAL)
(4) 112 A325T] 80C12-
1/2 HVHX NUT
" (4) 112 A325T/
" 1/2 HVHX NUT
[
I \ ENDWALL INTERIOR COLUMN
1 COLD-FORMED, BUILT-UP OR
HOT ROLLED
(BUILT-UP OR HOT ROLLED SHOWN)
TYPE'C EF33
ENDWALL RAFTER AA

To Section Index

Download the DWG file by clicking here.

Issued 9/28/2016



../../SSUB/EF33AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Type 'CS'
Endwall Rafter
EF33A/AA
STRUT PURLIN 91/2"
s {’/'\
\'/'\ FRAME
BRACE
(TYPICAL)
(8) 1/2 A325T/ I 80C12-
1/2 HVHXNUT " (4) 112 A325T/
I 1/2 HVHX NUT
: \
ENDWALL INTERIOR COLUMN
COLD-FORMED, BUILT-UP OR
HOT ROLLED
(BUILT-UP OR HOT ROLLED SHOWN)
SEE BRO9AA or BA
PURLIN BRACE (IF REQUIRED) NOT SHOWN FOR CLARITY
TYPE 'CS' EF33A
ENDWALL RAFTER AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016



../../SSUB/EF33AAA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Type 'N'
Endwall Rafter
EF34/AA
<12 STRUT
PURLIN
STRUT PN
' L
L || \
[ (4) 1/2 A325T/
|: 1/2 HVHX NUT
I
[
[
[
" \ ENDWALL INTERIOR COLUMN
[ COLD-FORMED, BUILT-UP OR
| HOT ROLLED
(BUILT-UP OR HOT ROLLED SHOWN)
TYPE 'N' EF34
ENDWALL RAFTER AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF34AA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

PRIMARY FRAMING

Type 'P'
Endwall Rafter
EF35/AA
PURLIN
PURLIN FRAME
BRACE
g!I'PRI’EUT (TYPICAL)
‘
| E r 7 bl
YN |
- N2 Lo
I L N L
LoJ L
— | ! \
|| (4) 112 A325T/
:: 1/2 HVHX NUT
[
I
[
I
NOT TO BE USED WITH II \ ENDWALL INTERIOR COLUMN
CHANNEL ENDWALL RAFTER | COLD-FORMED, BUILT-UP OR
HOT ROLLED
(BUILT-UP OR HOT ROLLED SHOWN)
TYPE P EF35
ENDWALL RAFTER AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016



../../SSUB/EF35AA.dwg

PRODUCT MANUAL

PRIMARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Type 'S'
Endwall Rafter
EF36/AA
PURLIN
9112" /
STRUT r/’\
PURLIN ADDED STRUT PURLIN PRAME
(FOR 2-PURLIN STRUT (TYPICAL)
CAPACITY)
[
||
| |
1o}
| | \
I (4) 1/2 A325T/
I 1/2 HVHX NUT
I
I
I
SEE BROJ/AA | N
PURLIN BRACE | ENDWALL INTERIOR COLUMN
NOT SHOWN | COLD-FORMED, BUILT-UP OR
FOR CLARITY 1 HOT ROLLED
(BUILT-UP OR HOT ROLLED SHOWN)
TYPE'S' EF36
ENDWALL RAFTER AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/EF36AA.dwg
BRACING_-_BR_1.pdf#BR09/AA

	PRIMARY FRAMING EF 1
	PRIMARY FRAMING EF 2
	EF01/AA
	EF01A/AA
	EF01AA/AB
	EF01B/AA
	EF01C/AA
	EF01CA/AA
	EF01CB/AA
	EF11/AA
	EF11/AB
	EF11B/AA
	EF11B/AB
	EF11BB/AA
	EF11BB/AB
	EF12/AA
	EF12A/AA
	EF12B/AA
	EF12X/AA
	EF12Y/AA
	EF12Z/AA
	EF13A/AA
	EF13X/AA
	EF14/AA
	EF14A/AA
	EF14B/AA
	EF14X/AA
	EF14Y/AA
	EF14Z/AA
	EF16A/AA
	EF16X/AA
	EF17/AA
	EF18/AA
	EF18A/AA
	EF20/AA
	EF20R/AA
	EF21/AA
	EF21R/AA
	EF22/AA
	EF23/AA
	EF23A/AA
	EF24Y/AA
	EF24YA/AA
	EF25/AA
	EF26/AA
	EF26W/AA
	EF26WA/AA
	EF26Y/AA
	EF26YA/AA
	EF27/AA
	EF28/AA
	EF28A/AA
	EF28BB/AA
	EF29/AA
	EF30/AA
	EF31/AA
	EF32/AA
	EF33/AA
	EF33A/AA
	EF34/AA
	EF35/AA
	EF36/AA



